R:\Clients\Plastpro, Inc PERMANENT\B - TDI\TDI - DR 1057 Direct Glazed Non-Impact\C - Drawings\TX-4922.dwg, TX-4922

& -\-,;.‘\:'\\:u Illgt (L::.-:’ n
'_o?‘_’; %..-‘"".: Q ,-'.. &, Ql BT 0
s HEH 5 . Z-
‘é%é’&” ; v did 8]
gui PNjwis & b i A
. S 1=z 3 c > <
5200 W. CENTURY BLVD. O, 5 & 85 232 2z
=——————115.5" MAX. OVERALL FRAME WIDTH ———— ?120-‘. g 5F BEQ aF
LOS ANGELES, CA 90045 xS Foa0 p-n WE
| S75'MAX. 375" MAX. N e s 88”98
FRAME WIDTH || ™~ FRAME WIDTH | DR B
e Zo. Of
DIRECT GLAZED FIBERGLASS DOORS REE
i § o2
b 0w
T O : i
SINGLES = 5 :
i - 8
w/ or w/out SIDELITES :o 45
<2 22 o) o) o8
) — =
INSWING / OUTSWING 53 2E ° 22
= w Qc -
"NON-IMPACT" : s o 3 | B
= L(N). 9 =
& N g& 5 =&
REER
SE|uf W,
el
k& - o Ei) 7
1.5" = = —| 15" g o P
EVALUATED FOR USE IN THE STATE OF TEXAS . : 2 ¥ o
The Fiberglass Door system described herein complies with the 2018 International - -
Residential Code (IRC), Sections R301 & R60? and the 2018 International Building Code L%
(IBC), Sections 1404.13, 1609, 1709.5, 2403 and 2404 subject to the following conditions:
1. Anchors shall be as listed and spaced as shown in the details. Anchor embedment §
to base material shall be beyond wall dressing or stucco. e
2. When used in areas requiring wind-borne debris protection this product is required X o) X =
to be protected with an impact resistant covering that complies with Section X i f § %
R301.2.1.2 of the IRC and Section 1609.1.2 of the IBC. i 1 i -l &
3. Allowable design pressure requirements must be equal to or less than the design 5 %
pressure rating shown in the design pressure chart, sheet 1 of this drawing. 2 o
4. Conditions not covered by this drawing are subject to further engineering analysis. :
X ox X0 <
TABLE OF CONTENTS o
SHEET # | DESCRIPTION S
1 Typical elevations, design pressures & general notes ol
2 Door & Sidelite panel details F) | DESIGN PRESSURE (PSF). &
3 Elevations » .|
4 Horizontal cross sections DIMENSION |7~ " ~*~="="" | POSITIVE | NEGATIVE | POSITIVE -2
S Honzpm‘ol & Ven‘lcgl Cross Sections X 37.5" x 98.0" N/A +40.0 +460.0 -60.0 DATE: 4,/29/19
6 Vertical Cross Sections ScAE:. N.T.S
7 Frame anchoring 75.0" x 98.0" N/A +30.0 +30.0 -35.0 - N>
i OX/X0O DWG. BY: MT
8 Hardware details 76.5" x 98.0" 2X +55.0 +55.0 -55.0
9 Components - - cHK. B:  LFS
0 Bil of mafenals & Componens — 112.5" x 98.0 N/A +30.0 +30.0 -35.0 DRAWING NO.:
115.5" x 98.0" 2% +55.0 +55.0 -55.0 TX—4922
SHEET _1 oF 10

© 2019 R.W. BUILDING CONSULTANTS INC.



R:\Clients\Plastpro, Inc PERMANENT\B - TDI\TDI - DR 1057 Direct Glazed Non-Impact\C - Drawings\TX-4922.dwg, 2

3.45" - U 4
04" —| (=— INTERIOR SN o3 0
y ool S ' Yo o
~ EXSCE £ 8 us
ATTTTTTTIE TN 2 / ({TTFITFIT M Za iz Sq ¢B §*
IRRRRRRRRR ] NERRRRREREER " 2 ©Nria ot =y B
] ] L x A AN 58 £.a 23
5 : c E25h 09
2% H! I n\‘ | n] |) JJ \ | ||_| | ||‘| | Jﬂ | %\&‘}. io . 5F g EB bE
\ TOP RAIL —[§ X e i Z o2 WE
EXTERIOR Qg i > 2oL -- 52 o
(COMP.) - ltl Gl LS e a ON=« EO
CAP (PVC) STILE (LVL) A RN T S oxf .®
/"1 HORIZONTAL CROSS SECTION v B 28, by
e T ‘; g 3.5 g
\2/ S § 388 gk
m =
i v T, 2 L
35.75" MAX. PANEL Eo e 5 § 2k
WIDTH FIBERGLASS SKIN — [, -~ " : B
24.813' D.LO. ARAMT g
WIDTH T
q
‘ ]/2!! N
GLASS BITE .
/ MIERICR —— 3/4' OVERALL GLASS THK. oS | B9
=0 Ly <C
1 Q
R ‘ x 1/8" TEMPERED GLASS 20 |5 Sk
| N\ %é g %d
L =z
o i | | } L EXTERIOR INTERIOR 28 |9 SE
% s L (&)
= 3 | \\sAIR SPACE 0 5
o
= - ) / / * 1/8" TEMPERED GLASS S c
= o (o3}
T O ALUMINUM SPACER
m = EXTERIOR 2l
Z 0 o GLAZING
e ¥ TAPE N
% O | @ GLAZING DETAIL 8
2 % &~ (. ) ©
] © N g
S Oj S |»
2B
i . © |5
ALTERNATE DEADBOLT SPACING . 3| 5
= Ay v (0%
e T (@}
- =
SEE DOOR LOCK R tu
HARDWARE TABLE | S
FOAMCORE — ([ - . .7 * 5
B .V . . . g
g & N
— o=
' YALE KNOB: YH COLLECTION QIS
n
@ DEADBOLT:  YH COLLECTION =
. BOTTOM RAIL —| =
% | KNOB: SIGNATURE SERIES
W , : owTE: 4/29,/19
@P LASIRRO DOCK FANEL KWIKSET ™ | DEADBOLT: ~ SIGNATURE SERIES (980) (COMP) 1L Al 1 — / = T/ =
@PLASTPRO SIDELITE PANEL criace | KNOE: F-SERIES (F51) ot I
DEADBOLT: B-SERIES (B40) /"2 VERTICAL CROSS SECTION TS
@ DRAWING NO.:
FIBERGLASS SKIN: 0.075" MIN. THK. * NOTE: KWIKSET DEADBOLT MAY BE SPACED AT 5-1/2" ABOVE KNOB TX—4922
FOAM CORE: XPS FOAM (1.3 PCF MIN. DENSITY) ON SINGLE DOOR ONLY (MAX. DESIGN PRESSURE = +50 PSF) e 3 o D

/ / / / / / . / /

© 2019 R.W. BUILDING CONSULTANTS INC.



"ON| SLNVLINSNOJ aNIaing "M'd 6102 @

2S8LL—d # NOILVYLSIOZN 40 3LvOIJILY3D 5 SNOISIATY T

SY3I3INIONI VNOISS3J0¥d 40 Q¥vog SvXal » o
4B BB ON SuBl e S41| 3a@00 2dI/0d1 8L0Z OL 31vadn| 0z/9z/S| L ] ul's i 2l
. i . ‘A18W3SSY ¥O Ldvd ol = .28

S6SEE 14 OOMIDA 0€Z Xog om\m\wmﬂ Q= 5+
~"ONI "SLNVLINSNOD 9NIgINg AN B z | 3_

yY00a SSv1943gid B Ele &2
€TLYOL# "3'd SWX3L ONI 04dLSY1d Wl e |glE b

'3'd ‘IPlwyss ‘4 uopuk :Ag peipdaid sjuawnooq 110N00¥d 39 W m W S |-

'
6

ELEVATION
0)(@)

(67
NI

(5
\&/

(2 3V 4
6 6
ELEVATION
XO / OX

(1
\&/

(Y32
6 6 6
ELEVATION
X

€ 'BMP'Z26Y-X L\sbuimelq - D\1deduwi-uoN paze|D 1a1id L50L ¥A - 1AL\IAL - E\LNINVIAYI 2ul _ohaumm_n_/mucm:w/ux



B \\\\\ MW

ARATRR R DA
MWAAVAW VETPPPTm.
ILILLLLLI ]

A\

SEEN%%] d ¥ %

/"1 "\ HORIZONTAL CROSS SECTION
w Outswing shown (Inswing similar)

Back-to-Back Jambs

NOTE:
1. Spacing for item J: 6" from each end and 5 more
equally spaced along sidelite jamb (7 total).

50

A\

INTERIOR

EXTERIOR

A\

ALY
\/

AAVMNLRNANT AN

I/

%)

o

@ SEENOTE 1

/" 2"\ HORIZONTAL CROSS SECTION

W Outswing shown (Inswing similar)
Back-to-Back Jambs

\\

SEENOTE 1

o

INTERIOR

L. ‘
W
- @

INTERIOR

W\
\

i

m HORIZONTAL CROSS SECTION

11
EXTERIOR

“0)

\U Outswing shown (Inswing similar)
Shown w/ 2X Reinforcement

> O
/~ 4"\ HORIZONTAL CROSS SECTION

W Outswing shown (Inswing similar)
Shown w/ 2X Reinforcement

EXTERIOR

SEENOTE 1

ui
aQ
S & n
3
Yo i4
Es 5 &
£+ w2
0 L [ o
e 20, 8
|.I.m 'LTI_.CD
nht-e 4
5§ E o <
z 0905 Z
T w <00’) o
= ETn =
> J 50 0
=} y 0
>m 9
n-~ - W
£80 ¢
BS -
& omo_ 5
° %éz L
o £m, O
o] c
8 :’O'o [a)
o oD 2. %
& moa §
=
8
)
5 S
3 {
3 =
[o]
o

CERTIFICATE OF REGISTRATION # F—11852

oz (%)
OO =
=0 -0
=5 2
o O
8(/) > %Lu
D_V) il N(/)
[ ]
e |8 xun
ul S
301 (2] o
o %] e
o |< &
Bl < e
2 o
o &
va <
o a
- ~
Ll

5/26/20 |UPDATE TO 2018 IBC/IRC CODE

1

NOJ| DATE

REVISIONS

DATE: 4,/29/19

SCALE:  N.T.S.

DWG. BY: MT

CHK. BY: LFS

DRAWING NO.:
TX—4922

SHEET _4 oF 10

R:\Clients\Plastpro, Inc PERMANENT\B - TDI\TDI - DR 1057 Direct Glazed Non-Impact\C - Drawings\TX-4922.dwg, 4

- © 2019 R.W. BUILDING CONSULTANTS INC.



R:\Clients\Plastpro, Inc PERMANENT\B - TDI\TDI - DR 1057 Direct Glazed Non-Impact\C - Drawings\TX-4922.dwg, 5

NOTES:

1. Spacing for item J: 6" from each end and 5
more equally spaced along sidelite jamb (7
total). |

DRYWALL 0.15" C-SINK DRYWALL
4” ~  (1YP) 2. Spacing foritem J @ head & sill: 6" from ends
e \ - : //@ - — L (2 total).

o @)U |

7/
//

¥

= e E G N

- N
N

S S

l EXTERIOR
EXT. SHEATHING 12 EXT. SHEATHING EXT- SHEATHING \
1

@)

/1" HORIZONTAL CROSS SECTION /“2"\ HORIZONTAL CROSS SECTION '
w Outswing shown (Inswing similar) w Outswing shown (Inswing similar) f

DRYWALL

- — 4

, ®
DRYWALL .\
/ _ » / EXT. SHEATHING \ Y X/

SEE NOTE 1 | | / L /DRYWALL EXTERIOR W INTERIOR
INTERIOR pr— ’ P
INTERIOR G (11 '@ /3" VERTICAL CROSS SECTION
no. - n 23 <\@ W Outswing shown (Inswing similar)
= seeNoTE2 (1))
EXTERIOR
@ EXTERIOR INTERIOR
EXT. SHEATHING \\
/"3 \ HORIZONTAL CROSS SECTION (5 "\ VERTICAL CROSS SECTION

w Outswing shown (Inswing similar) W Outswing shown (Inswing similar)

Lyndon F. Schmidt, P.E
TEXAS P.E. #104123

BUILDING CONSULTANTS, INC.
P.0. Box 230 Valrico FL. 33595
813.659.9197

Documents Prepared By

Phone No.:
TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

=
o
=
oS E=
£9 32
e O
Q | [
xd e N
a9 -
=319 =<
0 = =
& |4 88
n |<| NG
TPE
=
o &
© <
[a [a
P
|
w
Q
S
o
O
X
S |
@ |2
o
2 @
o
S| @
(4
2
5
Qo
o
S
&
N L
[
N[
MN[=)
wn
—|o
=

DATE: 4,/29/19

SCALE:  N.T.S.

DWG. BY: MT

CHK. BY: LFS

DRAWING NO.:
TX—4922

SHEET _ 5 oF 10

/

© 2019 R.W. BUILDING CONSULTANTS INC.



R:\Clients\Plastpro, Inc PERMANENT\B - TDI\TDI - DR 1057 Direct Glazed Non-Impact\C - Drawings\TX-4922.dwg, 6

\\

INTERIOR

EXTERIOR

20 )24 ) 27
(=)
o z . 7; > A
> v B ¥ T IS & g >
* 3 'év .? g [N
J A4 A b& ° b ®
P ) WOOD
D ) CONCRETE

/" 1"\ VERTICAL CROSS SECTION

w Inswing Sill

NOTE:

1. Spacing foritem J & L @ head & sill: 6" from each
end (2 total).
INTERIOR b\ EXTERIOR

SEENOTE 1

/"5 "\ VERTICAL CROSS SECTION

\6/ Inswing Sill

D)

‘ //
INTERIOR EXTERIOR
vr A N » AQ g ;s :h‘
SR . S IS
'S . b ® i a
- NN S
P ) WOOD
D ) CONCRETE

/" 2"\ VERTICAL CROSS SECTION

W Outswing Sill

Y\m*\

//

EXTERIOR

d‘;
th

2%\ 1\ YA

\\

m VERTICAL CROSS SECTION

wOu’rswing Sill - =
. . s B o

& B > 5 5 s i.'
S e \ ; ".k N
~ A4 N A
WOOD/CONCRETE / P ) wOOD
SUBSTRATE (TYP.
‘ (P D ) CONCRETE

m VERTICAL CROSS SECTION

w ADA Sill

\\
INTERIOR EXTERIOR INTERIOR N\ EXTERIOR
SEE NOTE | .I \’@
SEE NOTE |

/"6 "\ VERTICAL CROSS SECTION

w Inswing Sill

m VERTICAL CROSS SECTION

\6/ Outswing Sill

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

P.O. Box 230 Valrico FL. 33595
813.659.9197

BUILDING CONSULTANTS, INC.

Documents Prepared By

Phone No.:
TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

' %]
(Y] v
=0 S
\13 m

o=
S a3 Qo
@ b B
a? |3 =G
U,é S| S
wl =0
25 19 &
OCm |« =
O
= o
o &
x <
o [a
N>—|!
Sl
Ly
o
o
O
§)
X
Sl v
o [z
o
2 @
o
Q| @
x
2
=
a
a
S
N
L
o=
NE
wn
—lo
z
DATE: 4/29/19
SCALE:  N.T.S.
DWG. BY: MT
CHK. BY: LFS
DRAWING NO.:
TX-4922

SHEET _6 oF 10

© 2019 R.W. BUILDING CONSULTANTS INC.



i
e
L KT 53 @ o
L TR = = n W
SLe s E* ) W o
;:’(&«' E I 8 . - 3 Z :
S~y i0 weogn o 24
2 e . .o £ | [
2.l % w I
2 65 NS c2 GE2 %
;u’ . H : (%4 E o ® <2( >
XIS -4 Tw 299 %5
XA O > 550 ok
{,‘_-. : s e} 59 . n<
e, D¢ 2>mn 0OE
QIJ‘ IR Zown %
] lh**sz] f > 8 R . @O
3" (TYP.) — |=— 3 (TYP. = My e . 0 xS |
n o]
& 4 (TYP) - . " (‘}Yg’)”") — EgS8. St
— " ' n *; a S O o x W
TYP 4" (TYP.) 6 § 392 2
(v ) | ] e mve) = I y = o
| /)IIII | /IIII IIIII\ | 5 g;"(’g
| Ll . k3 2 _ : 54
| * s * * | § P
- o
. B bl = . o
HEAD & JAMBS - HEAD & JAMBS HEAD & JAMBS
(TYP.) (TYP.) BACK-TO-BACK (TYP.) BACK-TO-BACK o« o
) JAMBS JAMBS O 2
w/ REINF. w/ REINF. =5 S
QOwn
(TYP. (TP 28 348
el
- - — - — - - - — ZICHN -
S5 |E =
., I E
I,_—) x
S o
B | N B B B B - . S £
0 CONCRETE CONCRETE & &
(D) concrete GE GE GE
_ - B - - WOOoD __ = L _ WOooD  __ - = 2>
(P) woop CE oE CE &
k35 : SILL (TYP. in % SILL (TYP. Iy 25
SILL (TYP.) =~ 3 % (TP ~3 it (TYP. ~3 L
ADA SILL ONLY \ * \\‘ . ',/ *\ - * . | { 8
& I I i | F I I L 1 | i I Q
1 S v
ol [z
O
- 2 2
o= S| &
B vl
=
X XO/0X OXO S
X —_— =
NOTE: FRAME CORNERS ATTACHED w/ §
(3) #10 X 2-1/2" FH WOOD SCREWS (TYP.) 5
FRAME ANCHORING %
N Ll
o=
} ()
* NOTE: THESE ANCHORS ARE REQUIRED FOR DESIGN PRESSURE > 40 PSF ONLY -
DATE: 4/29/19
SCALE: N.T.S.
DWG. BY: MT
CHK. BY: LFS
DRAWING NO.:
TX—4922

SHEET _7 oF 10

R:\Clients\Plastpro, Inc PERMANENT\B - TDI\TDI - DR 1057 Direct Glazed Non-Impact\C - Drawings\TX-4922.dwg, 7

© 2019 R.W. BUILDING CONSULTANTS INC.



‘AONI SINVLINSNOJ 9NIdTINg "M'H 6102 Q)

SNOISIATY
-— 0
SEAENIT B o Rl STVL3 3YYMAEVH 8 VG TN 0| | |0 |9
AL 1 S41| 3000 2di/08I 810z 01 3ivadn|oz/9z/s| | | |U|5|%| & |7
CB5EE 1t oonion oy NoB o \Sdgv KIBNISSY 90 Luvd N _M — "I
‘ONI ‘SINVLINSNOO 9NIaTINg . N 8_
¥00a SSY1943814 MR ERS
€ZLHOL# '3'd Svxal ONI 04d1SYd EIFe w m
‘3'd PIWYDSS "4 uopuk] :Ag pedpdaug sjuswnoog :109N00Yd = x W mw x %
i
m =
=5
e
w
[-a]
\ :
[ A | =
—F= ] T { w
| 757 | 757 | 57 pNu
gWVT 40 dOl 7 7 . . =
EON_H_ :WNG.Q 1 | _.WNF Gm | __WN_. wm
u
| \2 <
(2
1 = wls
o 213 (8WVT 40 dOL Ol) ¢
_ - - = WSTL'SS "
@\\ o le ! === “
LLl \
N
Mw 2
T o v
Or-==7 =
= = <€ o Q @]
SQLE =3
w A O M 5
[NN] < [a]
ZIN w e
a X T
a2\ o
ek
(awvr 40 doL ol _ I
S29'8Y ]
® -—-— .
(Y] 4 —_—
® d = -P.ﬂ M m m A“n_ H H
I 1 m S mw = :Wl (&)
Ha o Ly
o le % (4
° <
Q
=
-
3
<
]
Q
>
=
(%)
® @ ® © :
& & <
w N » I =
5 S ¥l i3 8
et H=H Os ac
@ _M._M._lﬂ_ M _||'.- [wm] ‘ _.ﬂmu._ m S I— — — - W= o = m M
= T = H— M w = -/\- > w /\ ey ]
| \/ = < o | _ 2 o
| & M -—
. S @ & =
® ¥ i@ o F -
N/ -
[ o
P ® :
g

8 'Bmp'zzer-XL\sbuimeq - D\idedw|-uoN paze| 193110 £50L A - IALNAL - 8\LNINVINYId du| ‘oidise|d\siualiD\y



R:\Clients\Plastpro, Inc PERMANENT\B - TD\TDI - DR 1057 Direct Glazed Non-Impact\C - Drawings\TX-4922.dwg, 9

’<—L4" —|

20 INSWING THRESHOLD

SIDELITE
ADAPTER

Endura (Z-Series)

4.56"

- 1.37" =]

24 INSWING THRESHOLD

Columbia

———| 1.23" I<—

0

27 INSWING THRESHOLD

DLP

4.56" !

INSWING THRESHOLD w/ SIDELITE ADAPTER

21

Endura (Z-Series)

SIDELITE
ADAPTER

22 OUTSWING THRESHOLD

Endura (Z-Series)

L— 1.5" ——

e
! 4.56" {
25 INSWING THRESHOLD w/ SIDELITE ADAPTER
Columbia
' 2.12"

L
L - ]I

]ll

4.57"

INSWING THRESHOLD w/ SIDELITE ADAPTER
28 DLP

4.5¢"

~— 14" —

2 OUTSWING THRESHOLD

Columbia

2“

4.55"

|

I

29 OUTSWING THRESHOLD

DLP (QOSR)

l—— 1.75" *J

QoS
SR i 4

SIDELITE
ADAPTER

e

! 4.56"

23 OUTSWING THRESHOLD w/ SIDELITE ADAPTER
Endura (Z-Series)

" 4.56"

sk

’ ADA THRESHOLD
DLP

u
Qg
S g n
.,
Bo 4
€ 3 ul
s* B 2
0 ui [SI%1 o
.o 2 n &
LLU) .f o y
(7)) s |
§5E E o X
z 9 Z
0w 09 §
cr FTn =
o Jg0 0
>0
2>m A
o~ - u
§R%° ¢
b a O
@ on: o
o 282 u
I Zmgy O
Q ¢
a8 ¥ 50 ©
o D = e %
= moa g
S o
ﬂ
c )
P X ;
E ]
3 =
o
[a}

CERTIFICATE OF REGISTRATION # F—11852

PLASTPRO INC
FIBERGLASS DOOR
COMPONENTS

PART OR ASSEMBLY:

PRODUCT:

LF.
BY

5/26/20 |UPDATE TO 2018 IBC/IRC CODE

1

NO. DATE

REVISIONS

DATE: 4,/29,/19

SCALE:  N.T.S.

DWG. BY: MT

CHK. BY: LFS

DRAWING NO.:
TX—4922

SHEET _ 9 oF 10

© 2019 R.W. BUILDING CONSULTANTS INC.



R:\Clients\Plastpro, Inc PERMANENT\B - TDI\TDI - DR 1057 Direct Glazed Non-Impact\C - Drawings\TX-4922.dwg, 10

BILL OF MATERIALS
ITEM # | DESCRIPTION MATERIAL

A 1XBUCK (G >=0.42) WOOD

c 1/4" MAX. SHIM SPACE -

D 1/4" @ PFH ELCO OR ITW CONCRETE SCREW (1-3/4" MIN. EMBEDMENT) STEEL

G 3/16" @ PFH ITW CONCRETE SCREW (1-3/4" MIN. EMB.) STEEL

J #10 X 2" PFH WOOD SCREW STEEL

L #10 X 2-1/2" PFH WOOD SCREW (1.15" MIN. EMB.) STEEL

P #10 PFH WOOD SCREW (1-1/2" MIN. EMB.) STEEL

1 POLY FIBER JAMB COMP

2 FINGER JOINT PINE JAMB WOOD

5 2X REINFORCEMENT (G >= 0.55) WOOD

6 DOOR SWEEP PVC

7 WEATHERSTRIP FOAM

9 #9 X 3/4" PFH WOOD SCREW STEEL

11 4" X 4" HINGE STEEL

12 LATCH STRIKE PLATE STEEL

13 DEADBOLT STRIKE PLATE (STANDARD) STEEL

14 10-32 X 3/8" PFH MACHINE SCREW STEEL

15 #12 X 2-1/2" PFH WOOD SCREW STEEL

16 #8 X 2-1/2" PFH WOOD SCREW STEEL
20 INSWING THRESHOLD ALUM/COMP
21 INSWING THRESHOLD w/ SIDELITE ADAPTER ALUM/COMP
P OUTSWING THRESHOLD ALUM/COMP
23 OUTSWING THRESHOLD w/ SIDELITE ADAPTER ALUM/COMP
24 INSWING THRESHOLD ALUM/COMP
25 INSWING THRESHOLD w/ SIDELITE ADAPTER ALUM/COMP
26 OUTSWING THRESHOLD ALUM/COMP
27 INSWING THRESHOLD ALUM/WOOD
28 INSWING THRESHOLD w/ SIDELITE ADAPTER ALUM/WOOQOD
29 OUTSWING THRESHOLD ALUM/WOOQOD
30 ADA THRESHOLD ALUM
40 DOOR PANEL =
50 SIDELITE PANEL .

| —

4.5¢6"

1.25"

Midan™

Lyndon F. Schmidt, P.E
TEXAS P.E. #104123

813.659.9197

| 2
2.44" | (=
POLY FIBER JAMB
Plastpro PF Jamb
‘ 4.56" '
| |
2.44" | =
@ FINGER JOINT PINE JAMB
CONCRETE ANCHOR NOTES:

—_—

. Concrete anchor table:

. Concrete anchor locations at the corners may be adjusted to maintain the min.

edge distance to mortar joints.

. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted to

maintain the min. edge distance to mortar joints, additional concrete anchors
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded.

BUILDING CONSULTANTS, INC.
P.O. Box 230 Valrico FL. 33595

Documents Prepared By

Phone No.:
TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

PLASTPRO INC
FIBERGLASS DOOR
PART OR ASSEMBLY:

PRODUCT:

BILL OF MATERIALS
& COMPONENTS

LF.
BY

1z

5/26/20 |UPDATE TO 2018 IBC/IRC CODE

NO)| DATE

1

REVISIONS

ITW BUILDEX 3/16"

DATE: 4/29/19

TAPCON® [ 1/4" 1-3/4"
EI.CO " " " \J
uttRAcON® | 1/4 1-3/4 1 4

SCALE:  N.T.S.

DWG. BY: MT

WOOD SCREW INSTALLATION NOTES:

. Maintain a minimum 5/8" edge distance, 1" end distance, & 1" o.c. spacing of

wood screws to prevent the splitting of wood.

CHK. BY: LFS

DRAWING NO.:
TX—4922

sHEeET 10 ofF 10

© 2019 R.W. BUILDING CONSULTANTS INC.



